## AN INEQUALITY FOR FIBONACCI NUMBERS

HORST ALZER, Waldbröl, FLORIAN LUCA, Johannesburg

Received March 21, 2021. Published online January 26, 2022. Communicated by Clemens Fuchs

Abstract. We extend an inequality for Fibonacci numbers published by P. G. Popescu and J. L. Díaz-Barrero in 2006.

Keywords: Fibonacci numbers; inequality

MSC 2020: 11B39

## 1. INTRODUCTION

The classical Fibonacci numbers are defined by the linear recurrence relation

$$F_0 = 0, \quad F_1 = 1, \quad F_n = F_{n-2} + F_{n-1}, \quad n = 2, 3, \dots$$

A closed-form expression is given by

(1.1) 
$$F_n = \frac{1}{\sqrt{5}} (\varphi^n - (1 - \varphi)^n),$$

where

(1.2) 
$$\varphi = \frac{1}{2} (1 + \sqrt{5}) = 1.618...$$

denotes the golden ratio. A detailed collection of the main properties of the Fibonacci numbers can be found, for instance, in Koshy [1].

DOI: 10.21136/MB.2022.0032-21

587

Florian Luca worked on this paper while he was visiting the Max Planck Institute for Software Systems in Saarbrücken, Germany, in spring 2021. He thanks the people of that Institute for their hospitality and support.

The work on this note was inspired by a paper published by Popescu and Díaz-Barrero in 2006 (see [2]). The authors used Jensen's inequality for convex functions to prove the following elegant inequality for Fibonacci numbers,

(1.3) 
$$(F_n F_{n+1})^2 \leqslant \sum_{k=1}^n F_k^r \sum_{k=1}^n F_k^{4-r}, \quad n \in \mathbb{N}, \ r \in \mathbb{Z}.$$

The proof reveals that (1.3) is valid for all  $n \in \mathbb{N}$  and  $r \in \mathbb{R}$ . Here, we extend this result and state an open problem in connection with (1.3).

## 2. Results

The following extension of inequality (1.3) holds.

**Theorem 2.1.** Let  $r, s \in \mathbb{R}$  with  $r + s \ge 4$ . Then, for all  $n \in \mathbb{N}$ ,

(2.1) 
$$(F_n F_{n+1})^2 \leq \sum_{k=1}^n F_k^r \sum_{k=1}^n F_k^s.$$

The sign of equality holds in (2.1) if and only if n = 1, 2 or  $n \ge 3$ , r = s = 2.

Proof. Since  $F_k \ge 1$ ,  $k \ge 1$ , we obtain  $F_k^2 \le F_k^{(r+s)/2}$ . Using the Cauchy-Schwarz inequality gives

$$(F_n F_{n+1})^2 = \left(\sum_{k=1}^n F_k^2\right)^2 \leqslant \left(\sum_{k=1}^n F_k^{r/2} F_k^{s/2}\right)^2 \leqslant \sum_{k=1}^n F_k^r \sum_{k=1}^n F_k^s.$$

We assume that equality holds in (2.1). Let  $n \ge 3$ . We obtain

$$F_k^2 = F_k^{(r+s)/2}, \quad k = 1, 2, \dots, n.$$

For k = 3, we find  $\frac{1}{2}(r + s) = 2$ . Moreover, we get

$$F_k^{r/2} = \lambda F_k^{s/2}, \quad k = 1, 2, \dots, n.$$

For k = 1 we obtain  $\lambda = 1$  and for k = 3 we find

$$2^{r/2} = F_3^{r/2} = \lambda F_3^{s/2} = 2^{s/2}.$$

Thus, r = s. It follows that r = s = 2.

588

This result leads to the problem to determine all real numbers r and s such that (2.1) holds for all integers  $n \ge 1$ . Here, we offer a partial solution.

**Theorem 2.2.** Let  $r, s \in \mathbb{R}$  with  $rs \ge 0$ . The inequality (2.1) holds for all  $n \in \mathbb{N}$  if and only if  $r + s \ge 4$ .

Proof. With regard to Theorem 2.1 it remains to prove that if  $rs \ge 0$  and r+s < 4, then (2.1) is not valid for all n. Therefore, it suffices to show that

(2.2) 
$$\lim_{n \to \infty} Q_n = 0,$$

where

$$Q_n = (F_n F_{n+1})^{-2} \sum_{k=1}^n F_k^r \sum_{k=1}^n F_k^s.$$

We consider two cases.

Case 1.  $r \leq 0$  and  $s \leq 0$ . Then we have  $F_k^r \leq 1$  and  $F_k^s \leq 1, k \geq 1$ . Thus,

$$\sum_{k=1}^{n} F_{k}^{r} \leqslant n \quad \text{and} \quad \sum_{k=1}^{n} F_{k}^{s} \leqslant n.$$

It follows that

(2.3) 
$$0 < Q_n \leqslant (F_n F_{n+1})^{-2} n^2 \leqslant \left(\frac{n}{F_n}\right)^2.$$

Let  $\varphi$  be the number defined in (1.2). Then,

(2.4) 
$$\frac{1}{2}\varphi^n \leqslant \varphi^n - (1-\varphi)^n.$$

Using (1.1) and (2.4) gives

(2.5) 
$$0 < \frac{n}{F_n} = \frac{\sqrt{5n}}{\varphi^n - (1-\varphi)^n} \leqslant 2\sqrt{5}\frac{n}{\varphi^n}.$$

From (2.3) and (2.5) we conclude that (2.2) holds.

Case 2.  $r \ge 0$  and  $s \ge 0$ . Since

$$\sum_{k=1}^{n} F_k^r \leqslant n F_n^r \quad \text{and} \quad \sum_{k=1}^{n} F_k^s \leqslant n F_n^s,$$

we obtain

(2.6) 
$$0 < Q_n \leqslant (F_n F_{n+1})^{-2} n F_n^r n F_n^s = \frac{n^2}{F_n^{\alpha}} \left(\frac{F_n}{F_{n+1}}\right)^2$$

|--|

with  $\alpha = 4 - (r + s) > 0$ . From (1.1) and (2.4) we get

(2.7) 
$$0 < \frac{n^2}{F_n^{\alpha}} = \left(\sqrt{5}\right)^{\alpha} \frac{n^2}{(\varphi^n - (1-\varphi)^n)^{\alpha}} \leqslant \left(2\sqrt{5}\right)^{\alpha} \frac{n^2}{a^n}$$

with  $a = \varphi^{\alpha} > 1$ . Applying

$$\lim_{n \to \infty} \frac{n^2}{a^n} = 0$$

and the known limit relation

$$\lim_{n \to \infty} \frac{F_n}{F_{n+1}} = \frac{1}{4}$$

we conclude from (2.6) and (2.7) that (2.2) holds.

The following problem still remains open: determine all real parameters r and s with rs < 0 such that (2.1) holds for all n. It is tempting to conjecture that in this case the condition  $r + s \ge 4$  is necessary. We show that this is not true.

Let  $\max(r, s) \ge 6$ . Inequality (2.1) is valid for n = 1, 2. Let  $n \ge 3$ . Then,

$$(F_n F_{n+1})^2 \leqslant (F_n \cdot 2F_n)^2 = (F_3 F_n^2)^2 \leqslant (F_n^3)^2 = F_n^6 \leqslant \sum_{k=1}^n F_k^r \sum_{k=1}^n F_k^s$$

This means that there exist numbers r and s with rs < 0 and r+s < 4 such that (2.1) is valid for all n.

Acknowledgement. We thank the referee for the careful reading of the manuscript.

## References

- T. Koshy: Fibonacci and Lucas Numbers with Applications. Volume I. Pure and Applied Mathematics. A Wiley-Interscience Series of Texts, Monographs, and Tracts. Wiley & Sons, New York, 2001.
- [2] P. G. Popescu, J. L. Díaz-Barrero: Certain inequalities for convex functions. JIPAM, J. Inequal. Pure Appl. Math. 7 (2006), Article ID 41, 5 pages.

Authors' addresses: Horst Alzer, Morsbacher Straße 10, 51545 Waldbröl, Germany, e-mail: h.alzer@gmx.de; Florian Luca, Wits University, School of Maths, Jan Smuts 1, Braamfontein 2000, Johannesburg, South Africa, e-mail: florian.luca@wits.ac.za.

zbl MR doi

zbl MR